TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

**OF WAY** 

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H	ZTEX	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION,INC.	DBA HAWK
							CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
TEN	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	El Paso, TX 79938
1	Furnish and Install Trench Patch with Cement Stabilized	2 500	SQ.YD.	\$300.00 UNIT	\$200.00	\$144.00	\$200.00
	Backfill Base (2-Sack), Between 0.01- 14.99 SQ. YDs, Total Excavation - 14" Cement Stabilized Backfill Material (2-Sack) - 12" Prime and 2" H.M.A.C. Complete in place.	2,300	30.10.	\$750,000.00 TOTAL		\$360,000.00	\$500,000.00
					W-30,000.00		
2	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (2-Sack), Between 15-49.99 SQ. YDs Total Excavation - 14" Cement Stabilized Backfill Material (2-Sack) - 12" Prime and 2" H.M.A.C. Complete in place	750	SQ.YD.	\$150.00 UNIT \$112,500.00 TOTAL	\$170.00 \$127,500.00	\$318.00 \$238,500.00	\$135.00 \$101,250.00
3	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (2-Sack), Between 50-99.99 SQ. YDs Total Excavation - 14" Cement Stabilized Backfill Material (2-Sack) - 12" Prime and 2" H.M.A.C. Complete in place.	200	SQ.YD.	\$160.00 UNIT \$32,000.00 TOTAL	\$175.00 \$35,000.00	\$434.00 \$86,800.00	\$130.00 \$26,000.00
4	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (2-Sack) For 100+ SQ. YDs, Total Excavation - 14" Cement Stabilized Backfill Material (2-Sack) 12" Prime and 2" H.M.A.C. Complete in place.	400	SQ.YD.	\$275.00 UNIT \$110,000.00 TOTAL	\$175.00 \$70,000.00	\$266.00 \$106,400.00	\$113.00 \$45,200.00
5	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (4-Sack), Between 0.01- 14.99 SQ. YDs,Total Excavation - 14" Cement Stabilized Backfill Material (4-Sack)- 12" Prime and 2" H.M.A.C. Complete in place.	1,200	SQ.YD.	\$315.00 UNIT \$378,000.00 TOTAL	\$205.00 \$246,000.00	\$144.00 \$172,800.00	\$220.00 \$264,000.00
6	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (4-Sack), Between 15-49.99 SQ. Yds Total Excavation - 14" Cement Stabilized Backfill Material (4-Sack) - 12" Prime and 2" H.M.A.C. Complete in place.	400	SQ.YD.	\$160.00 UNIT \$64,000.00 TOTAL	\$180.00 \$72,000.00	\$318.00 \$127,200.00	\$150.00 \$60,000.00
7	Furnish and Install Trench Patch with Cement Stabilized Backfill Base (4-Sack), Between 50- 99.99 SQ. YDs Total Excavation - 14" Cement Stabilized Backfill Material (4-Sack) - 12" Prime and 2" H.M.A.C. Complete in place.	100	SQ.YD.	\$175.00 UNIT \$17,500.00 TOTAL	\$180.00 \$18,000.00	\$434.00 \$43,400.00	\$140.00 \$14,000.00

Reviewed By: MY
Reviewed By: J.R.

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H	ŽTEX	TAO INDUSTRIES, INC.
					CONTRACTING, INC.		DBA HAWK
							CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
ITEM	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928		
8	Furnish and Install Trench Patch with Cement Stabilized	200	SQ.YD.	\$290.00 UNIT	\$180.00	\$266.00	\$135.00
	Backfill Base (4-Sack) For 100+ SQ. YDs, Total Excavation - 14" Cement Stabilized Backfill Material (4-Sack) -12" Prime and 2" H.M.A.C. Complete in place.			\$58,000.00 TOTAL	\$36,000.00	\$53,200.00	\$27,000.00
9	Furnish and Install Trench Patch With Flexible (Crushed Stone) Base Between 0.01-49.99 SQ. YDs, Total Excavation - 14", Flexible Base (Crush Stone) – 12" Prime and 2" H.M.A.C. Complete in place.	150	SQ.YD.	\$75.00 UNIT \$11,250.00 TOTAL	\$15.00 \$2,250.00	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$75.00 \$11,250.00
10	Furnish and Install Trench Patch with flexible (Crushed Stone) Base, For 50+SQ.YDs Total Excavation - 14", Flexible Base (Crush Stone) 12", Prime and 2" H.M.A.C. Complete in place.	150	SQ. YD.	\$80.00 UNIT \$12,000.00 TOTAL	\$15.00 \$2,250.00	100.73	\$60.00 \$9,000.00
11	Furnish and Install Trench Patch with flexible (Crushed Stone) Base, Total Excavation - 6", Flexible Base (Crush Stone) – 4 1/2", Prime and 1 1/2" H.M.A.C. Complete in place.	150	SQ.YD.	\$50.00 UNIT	\$15.00	\$135.00	\$50.00
	prace.			\$7,500.00 TOTAL	\$2,250.00	\$20,250.00	\$7,500.00
12	Furnish and Install County Roads & Parking Lots Trench Patch, Total Excavation - 4 1/2", 4" Flexible (Crushed Stone) Base Between 0.01- 199.99 SQ. YDs, 1/2" Thickness Two Course Inverted Penetration Complete in place.	250	SQ.YD.	\$30.00 UNIT	\$15.00	\$89.00	\$25.00
				\$7,500.00 TOTAL	\$3,750.00	\$22,250.00	\$6,250.00
	Furnish and Install County Roads & Parking Lots Trench Patch, Total Excavation - 4 1/2", 4" Flexible (Crushed Stone) Base, For 200+ SQ. YDs, 1/2" Thickness Two Course Inverted Penetration Complete in place.	250	SQ.YD.	\$40.00 UNIT	\$15.00	\$56.00	\$25.00
				\$10,000.00 TOTAL	\$3,750.00	\$14,000.00	\$6,250.00
	Furnish and Install Trench Patch, No Base, Between 0.01-14.99 SQ. YDs,Total Excavation - 2", Prime and 2" H.M.A.C. Complete in place.	300	SQ.YD.	\$80.00 UNIT \$24,000.00 TOTAL	\$150.00 \$45,000.00	\$149.00 \$44,700.00	\$78.00 \$23,400.00

Prepared By: CL

Reviewed By: Y

Reviewed By: U.R.

Date: H-1H-23

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H CONTRACTING, INC.	ZTEX CONSTRUCTION,INC.	TAO INDUSTRIES, INC.  DBA HAWK  CONSTRUCTION
ITEM	DESCRIPTION	QTY	UNIT	ENGINEER'S ESTIMATE	14361 Roaring Springs Drive El Paso,TX 79928	1326 Henry Brennan Dr. El Paso, TX 79936	12779 Azogue Ave. El Paso, TX 79938
15	Furnish and Install Trench Patch, No Base Between 15-49.99 SQ. YDs, Total Excavation - 2", Prime and 2" H.M.A.C.	2,500	SQ.YD.	\$40.00 UNIT \$100,000.00 TOTAL	\$25.00 \$62,500.00	\$62.00 \$155,000.00	\$38.00 \$95,000.00
16	Furnish and Install Trench Patch, No Base, For 50+ SQ. YDs, Total Excavation - 2", Prime and 2" H.M.A.C. Complete in place.	7,000	SQ.YD.	\$30.00 UNIT \$210,000.00 TOTAL	\$25.00 \$175,000.00	\$49.00 \$343,000.00	\$25.00 \$175,000.00
17	2" HMAC Overlay, No Excavation Prime and 2" HMAC	12,500	SQ.YD.	\$30.00 UNIT \$375,000.00 TOTAL	\$40.00 \$500,000.00	\$24.00 \$300,000.00	\$23.00 \$287,500.00
18	Furnish and Install 1" H.M.A.C. Overlay, No Excavation Prime and 1" H.M.A.C. Complete in place.	12,500	SQ.YD.	\$20.00 UNIT \$250,000.00 TOTAL	\$0.01 \$125.00	\$12.00 \$150,000.00	\$14.00 \$175,000.00
19	Furnish and Install 1/2" H.M.A.C. Overlay, No Excavation Prime and 1/2" H.M.A.C. Complete in place.	12,500	SQ.YD.	\$15.00 UNIT \$187,500.00 TOTAL	\$0.01 \$125.00	\$8.00 \$100,000.00	\$11.00 \$137,500.00
20	Proctor for Flexible (Crushed Stone) Base Material	10	EACH	\$500.00 UNIT \$5,000.00 TOTAL	\$500.00 \$5,000.00	\$715.00 \$7,150.00	\$800.00
21	H.M.A.C. Laydown Machine Use	17,500	SQ.YD.	\$3.50 UNIT \$61,250.00 TOTAL	\$20.00 \$350,000.00	\$4.00 \$70,000.00	\$5.00 \$87,500.00
	Furnish and Install Milling of Asphaltic Pavement, between 0.01 -49.99 SQ. YDs, Up to 2" Depth Each Pass, Includes Mobilization of Milling Machine Complete in place.	5,000	SQ.YD.	\$20.00 UNIT	\$0.01	\$45.00	\$118.00
	Complete in place.			\$100,000.00 TOTAL	\$50.00	\$225,000.00	\$590,000.00
	Furnish and Install Milling of Asphaltic Pavement, for 50+SQ. Yds, Up to 2" Depth Each Pass, Includes Mobilization of Milling Machine Complete in place.	10,000	SQ.YD.	\$50.00 UNIT \$500,000.00 TOTAL	\$0.01 \$100.00	\$31.00 \$310,000.00	\$80.00 \$80.000,008
24	Furnish and Install Milling of Asphaltic Pavement, between 0.01-49.99 SQ. YDs, Up to 1" Depth Each Pass, Includes Mobilization of Milling Machine. Complete in place.	2,500	SQ.YD.	\$20.00 UNIT \$50,000.00 TOTAL	\$0.01 \$25.00	\$47.00 \$117,500.00	\$115.00 \$287,500.00
	Furnish and Install Milling of Asphaltic Pavement, for 50+SQ. YDs, Up to 1" Depth Each Pass, Includes Mobilization of Milling Machine Complete in place.	5,000	SQ.YD.	\$50.00 UNIT \$250,000.00 TOTAL	\$0.01 \$50.00	\$43.00 \$215,000.00	\$70.00 \$350,000.00

Prepared By:

Reviewed By:

Reviewed By:

Pate: 4-14-3-3

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H	7757	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION, INC.	
							DBA HAWK CONSTRUCTION
				ENGINEER'S	14264 Destina Carinas Drive	1326 Henry Brennan Dr.	
ITEM	DESCRIPTION	QTY	UNIT	ESTIMATE	14361 Roaring Springs Drive El Paso,TX 79928	El Paso, TX 79936	12779 Azogue Ave. El Paso, TX 79938
26	Furnish and Install Milling of Asphaltic Pavement, between		SQ.YD.	\$20.00 UNIT	\$0.01	\$45.00	\$112.00
20	0.01-49.99 SQ. YDs, Up to 1/2" Depth Each Pass, Includes Mobilization of Milling Machine Complete in place.	2,500	30.10.	\$20.00 ONT \$50,000.00 TOTAL		\$45.00 \$112,500.00	7
27	Furnish and Install Milling of Asphaltic Pavement for 50+ SQ. YDs, , Up to 1/2" Depth Each Pass, Includes Mobilization of Milling Machine. Complete in place.	5,000	SQ.YD.	\$50.00 UNIT \$250,000.00 TOTAL	\$0.01 \$50.00	\$31.00 \$155,000.00	\$50.00 \$250,000.00
28	Removal Asphalt Pavement, 1-4" Thickness	5,000	SQ.YD.	\$12.00 UNIT \$60,000.00 TOTAL	\$1.00 \$5,000.00	\$21.00 \$105,000.00	,
29	Removal Asphalt Pavement, Greater Than 4" Thickness	1,000	SQ.YD.	\$20.00 UNIT \$20,000.00 TOTAL	\$1.00 \$1,000.00	\$26.00 \$26,000.00	\$17.20 \$17,200.00
30	Sub-Grade Preparation	20,000	SQ.YD.	\$2.00 UNIT \$40,000.00 TOTAL	\$0.01 \$200.00	\$9.00 \$180,000.00	\$2.00 \$40,000.00
31	Reconstruct Existing Flexible Base, 6 to 12 Inch Depth. Complete in place.	2,000	SQ.YD.	\$4.00 UNIT	\$5.00	\$12.00	\$4.00
				\$8,000.00 TOTAL	\$10,000.00	\$24,000.00	\$8,000.00
32	Reconstruct Existing Flexible Base, 13 to 18 Inch Depth. Complete in place,	500	SQ.YD.	\$6.00 UNIT	\$5.00	\$34.00	\$10.00
				\$3,000.00 TOTAL		\$17,000.00	\$5,000.00
33	Flexible Base Material	500	TON	\$35.00 UNIT \$17,500.00 TOTAL	\$30.00 \$15,000.00	\$63.00 \$31,500.00	\$30.00 \$15,000.00
	Furnish and Install Reflectorized Pavement Markings (Type I) Complete in place.	500	L.F.	\$25.00 UNIT	\$15.00	\$82.00	\$60.00
				\$12,500.00 TOTAL	\$7,500.00	\$41,000.00	\$30,000.00
	Furnish and Install Reflectorized Pavement Markings (Type II) Complete in place.	500	L.F.	\$30.00 UNIT	\$15.00	\$68.00	\$30.00
				\$15,000.00 TOTAL	\$7,500.00	\$34,000.00	\$15,000.00
	6 Feet X 10 X 1 Inch Steel Plate 7 Day Initial Rental Period (Includes Pick-up and Delivery)	1,250	EACH	\$500.00 UNIT \$625,000.00 TOTAL	\$125.00 \$156,250.00	\$243.00 \$303,750.00	\$425.00 \$531,250.00
	6 Feet X 10 X 1 Inch Steel Plate per day after Initial Rental Period (No Delivery or Pickup Charge)	750	EACH	\$50.00 UNIT \$37,500.00 TOTAL	\$50.00 \$37,500.00	\$215.00 \$161,250.00	\$72.00 \$54,000.00

Reviewed By: 4-14-3

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H	ZTEX	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION,INC.	DBA HAWK
						·	CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
ITEN	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	El Paso, TX 79938
38	5 Feet X 8 X 1 Inch Steel Plate 7 Day Initial Rental Period	500	EACH	\$500.00 UNIT	\$110.00		
	(Includes Pick-up and Delivery)			\$250,000.00 TOTAL	\$55,000.00	\$121,500.00	\$100,000.00
							96,75
39	5 Feet X 8 X 1 Inch Steel Plate per day after Initial Rental	350	EACH	\$50.00 UNIT	\$30.00	\$214,00°	\$70.00
	Period (No Delivery or Pickup Charge)	000	L/ (O) (	\$17,500.00 TOTAL		• • • • • • • • • • • • • • • • • • • •	
						, , , , , , , , , , , , , , , , , , , ,	****,1******
40	Steel Plates: Extra Delivery Charge - After Hours; Add-On	250	EACH	\$400.00 LINUT	£200.00	#044.00	****
40	Charge	230	EACH	\$100.00 UNIT	\$300.00	\$214.00	\$100.00
				\$25,000.00 TOTAL	\$75,000.00	\$53,500.00	\$25,000.00
4.4	0. 151. 5. 5.1 1. 0				· ·	. ,	,
41	Steel Plates: Extra Pick-Up Charge - After Hours; Add-On Charge	250	EACH	\$100.00 UNIT	\$5.00	\$214.00	\$100.00
	Charge			\$25,000.00 TOTAL	\$1,250.00	\$53,500.00	\$25,000.00
				<b>420,000,00</b>	<b>\$1,200.00</b>	400,000.00	\$20,000.00
40	One collectivity of Orders to the city of the city of the city						
42	Cancelled Work Orders in transit. (Not including Steel Plates)	20	EACH	\$250.00 UNIT	\$25.00	\$1,250.00	\$1,000.00
	Tatesy			\$5,000.00 TOTAL	\$500.00	\$25,000.00	\$20,000.00
				40,000.00	4000.00	\$20,000.00	<b>\$20,000.00</b>
42	Cancelled Steel Plates Work Orders		54011	*****			
43	Candelled Steel Plates Work Orders	20	EACH	\$250.00 UNIT \$5,000.00 TOTAL	\$25.00 \$500.00	\$250.00 \$5,000.00	\$350.00 \$7,000.00
				\$5,000.00 TOTAL	\$500,00	<b>გ</b> ნ,სსს.სს	\$7,000.00
44	Furnish and Install (2- sack) cement, stabilized backfill and equipment, complete in place.	1,000	CU.YD.	\$275.00 UNIT	\$140.00	\$191.00	\$250.00
	equipment, complete in place.			\$275,000.00 TOTAL	\$140,000.00	\$191,000.00	\$250,000.00
				#270,000.00 TOTAL	ψ140,000.00	Ψ131,000.00	Ψ250 <sub>1</sub> 000.00
45	Francisco and Install (Association of the North Control of the North Con						
45	Furnish and Install (4- sack) cement, stabilized backfill and equipment, complete in place.	1,000	CU.YD.	\$300.00 UNIT	\$160.00	\$213.00	\$270.00
	equipment, complete in place.			\$300,000.00 TOTAL	\$160,000.00	\$213,000.00	\$270,000.00
				7000,000000 / 2 11 / 2	, , , , , , , , , , , , , , , , , , , ,	<b>4</b> =10,000.00	42.0,000.00
46	Romayo and dianage of eviation reinforms and areas	4.050	TON	#40.00 LP***			
40	Remove and dispose of existing reinforce concrete road pavement.	1,250	TON	\$40.00 UNIT	\$1.00	\$103.00	\$30.00
	p an arrival			\$50,000.00 TOTAL	\$1,250.00	\$128,750.00	\$37,500.00
					7 1,	+ ·;· +a/w	43.,430.00
					l l		

Prepared By:_	ce
Reviewed By:	ny
Reviewed By:_	U.R
	4-14-23

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H		TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION,INC.	DBA HAWK
							CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
ITEN	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	_
47	Furnish and Install new 4- inch-thick reinforced concrete pavement; complete in place, including all necessary hardware as per City of El Paso, County and TxDOT Specifications	150	SQ.YD.	\$45.00 UNIT	\$35.00		W 856
				\$6,750.00 TOTAL	\$5,250.00	\$12,450.00	\$8,400.00
48	Furnish and Install new 6- inch-thick reinforced concrete pavement; complete in place, including all necessary hardware as per City of El Paso, County and TxDOT Specifications	150	SQ.YD.	\$70.00 UNIT	\$45.00	\$96.00	\$70.00
				\$10,500.00 TOTAL	\$6,750.00	\$14,400.00	\$10,500.00
49	Furnish and Install new 9- inch-thick reinforced concrete pavement; complete in place, including all necessary hardware as per City of El Paso, County and TxDOT Specifications	150	\$Q.YD.	\$95.00 UNIT	\$55.00	\$121.00	\$93.00 !
	3.			\$14,250.00 TOTAL	\$8,250.00	\$18,150.00	\$13,950.00
50	Furnish and Install new 12-inch-thick reinforced concrete pavement; complete in place, including all necessary hardware as per City of El Paso, County and TxDOT Specifications	150	SQ.YD.	\$120.00 UNIT \$18,000.00 TOTAL	\$65.00 \$9,750.00	•	100000000000000000000000000000000000000
51	Furnish and Install new 1- inch-thick reinforced concrete pavement; complete in place, as per City of El Paso, County and TxDOT Specifications	50	SQ.YD.	\$20.00 UNIT \$1,000.00 TOTAL	\$100.00 \$5,000.00	\$55.00 \$2,750.00	,
52	Remove, dispose and replace stamped colored concrete 4" depth. minimum of 3 stamp patterns, color match to adjacent concrete or as directed by inspector, includes Demolition, saw- cuts, excavation and/or fill up to 6 inches. In accordance with the City of El Paso, County & TxDOT Design Standards. Complete in place.	500	SQ.YD.	\$85.00 UNIT \$42,500.00 TOTAL	\$25.00 \$12,500.00		•
53	Remove, dispose and replace standard Curb and Gutter, In accordance with the City of El Paso, County & TxDOT Design Standards. Complete in place.	400	L.F.	\$16.00 UNIT \$6,400.00 TOTAL	\$120.00 \$48,000.00	\$60.00 \$24,000.00	

Reviewed By: 4-14-23

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

**BID TO BE OPENED: APRIL 12 2023** 

BID NUMBER: CSP30-23

					DOUBLE H	ZTEY	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION,INC.	DBA HAWK
						301131113011311,1113.	CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
TEM	I DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	El Paso, TX 79938
54	Remove, dispose and replace TxDOT Pinned Curb; In accordance with the TxDOT, County and City of El Paso Design Standards. Complete in place.	250	L.F.	\$20.00 UNIT	\$100.00	\$52.00	\$18.00
				\$5,000.00 TOTAL	\$25,000.00	\$13,000.00	\$4,500.00
55	Remove, dispose and replace 4" Rolled Curb in accordance with the City of El Paso and County Design Standards, Complete in place.	50	L.F.	\$16.00 UNIT	\$100.00	\$60.00	\$25.00
				\$800.00 TOTAL	\$5,000.00	\$3,000.00	\$1,250.00
56	Furnish and Install 4-inch sidewalk between 0.01-24.99 SQ. FT. In accordance with the City of El Paso, County & TxDOT Design Standards. Complete in place.	500	SQ.FT.	\$9.00 UNIT	\$1.00	\$21.00	\$25.00
	County & TXDOT Design Standards. Complete in place.			\$4,500.00 TOTAL	\$500.00	\$10,500.00	\$12,500.00
57	Furnish and Install 4-inch sidewalk for 25+ SQ. FT In accordance with City of El Paso, County & TxDOT Design Standards. Complete in place.	5,000	SQ.FT.	\$12.00 UNIT	\$30.00	\$26.00	\$15.00
	Standards. Complete in place.			\$60,000.00 TOTAL	\$150,000.00	\$130,000.00	\$75,000.00
58	Furnish and Install 6-inch sidewalk Between 0.01- 24.99 SQ. FT In accordance to City of El Paso, County & TxDOT Design Standards. Complete in place.	250	SQ.FT.	\$12.00 UNIT	\$1.00	\$23.00	\$25.00
	TXDOT Design Standards. Complete in place.			\$3,000.00 TOTAL	\$250.00	\$5,750.00	\$6,250.00
59	Furnish and install 6-inch sidewalk For 25+ SQ. FT In accordance to City of El Paso, County & TxDOT Design Standards. Complete in place.	1,500	SQ.FT.	\$15.00 UNIT	\$30.00	\$28.00	\$18.00
	TADOT Design Standards. Complete in place.			\$22,500.00 TOTAL	\$45,000.00	\$42,000.00	\$27,000.00
	Remove, dispose, and replace residential driveways in accordance with the City of El Paso, County & TxDOT Design Standards. Complete in place.	500	SQ.FT.	\$15.00 UNIT	\$30.00	\$20.00	\$5.74
				\$7,500.00 TOTAL	\$15,000.00	\$10,000.00	\$2,870.00
61	Remove, dispose, and replace commercial driveways in accordance with the City of El Paso, County & TxDOT Design Standards for Construction.	500	SQ.FT.	\$15.00 UNIT	\$30.00	\$20.00	\$5.74

Prepared By: CREViewed By: Pale: 4-14-3

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

BID TO BE OPENED: APRIL 12 2023

BID NUMBER: CSP30-23

					DOUBLE H	7TEV	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION, INC.	DBA HAWK
							CONSTRUCTION
				ENGINEER'S	14261 Posting Codogs Dai	1326 Henry Brennan Dr.	12779 Azogue Ave.
ITEN	DESCRIPTION	QTY	UNIT	ESTIMATE	14361 Roaring Springs Drive El Paso,TX 79928		•
	DEGG.(III 1104	Q I I	OIIII	\$7,500.00 TOTAL			
				\$7,500.00 TOTAL	\$15,000.00	\$10,000.00	\$2,870.00
62	Remove, dispose and replace wheelchair ramp / curb in compliance with current TDLR and ADA requirements. In accordance with the City of El Paso, County & TxDOT Design Standards.	100	EACH	\$15.00 UNIT	\$100.00	\$1,262.00	\$200.00
	-			\$1,500.00 TOTAL	\$10,000.00	\$126,200.00	\$20,000.00
63	Furnish and Install reinforced concrete aprons in roadways around water valves and city monuments. In accordance with El Paso Water, City of El Paso, County & TxDOT Design Standards. Complete in place.	100	EACH	\$200.00 UNIT	\$400.00	\$272.00	\$300.00
	Total of the place.			\$20,000.00 TOTAL	\$40,000.00	\$27,200.00	\$30,000.00
64	Furnish and Install reinforced concrete aprons in roadways around manholes. In accordance with El Paso Water, City of El Paso, County & TxDOT Design Standards. Complete in place.	50	EACH	\$125.00 UNIT	\$400.00	\$536.00	\$450.00
	• • • • • • • • • • • • • • • • • • • •			\$6,250.00 TOTAL	\$20,000.00	\$26,800.00	\$22,500.00
65	Adjust existing water valve to final grade and Furnish and Install reinforced concrete aprons around water valves. In accordance with the El Paso Water, City of El Paso, County & TxDOT Design Standards.  Complete in place.	50	EACH	\$125.00 UNIT	\$400.00	\$180.00	\$600.00
				\$6,250.00 TOTAL	\$20,000.00	\$9,000.00	\$30,000.00
66	Adjust existing manhole final grade Furnish and Install reinforced concrete aprons around manholes; In accordance with El Paso Water, City of El Paso, County & TxDOT Design Standards.  Complete in place.	50	EACH	\$125.00 UNIT	\$400.00	\$573.00	\$700.00
	Complete in piece.			\$6,250.00 TOTAL	\$20,000.00	\$28,650.00	\$35,000.00
67	Remove, dispose, and replace (Broken), Furnish and Install (New), meter boxes types A & B. Meter box shall be adjusted to final grade; In accordance with EPWater Design Standards.  Complete in place.	250	EACH	\$275.00 UNIT	\$400.00	\$179.00	\$500.00

Prepared By:

Reviewed By:

Reviewed By:

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

OF WAY

**BID TO BE OPENED: APRIL 12 2023** 

**BID NUMBER: CSP30-23** 

					DOUBLE H	ZTEX	TAO INDUSTRIES, INC.
					CONTRACTING, INC.	CONSTRUCTION,INC.	DBA HAWK
							CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Or.	12779 Azogue Ave.
ITEM	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	El Paso, TX 79938
=-		•		\$68,750.00 TOTAL	\$100,000.00	\$44,750.00	\$125,000.00
68	Furnish and Install Asphalt Street Resurfacing Repair, Demolition & Disposal of the removed asphalt, Prime and 2" H.M.A.C., Mobilization. Traffic Control, Equipment. Between 1-84.99 SQ. YDs Line Item 68 to be ordered in Square Yards and to billed in TONS. Complete in place.	500	TON	\$350.00 UNIT	\$100.00	\$372 00	\$230.00
				\$175,000.00 TOTAL	\$50,000.00	\$186,000.00	\$115,000.00
							***
69	Furnish and Install Asphalt Street Resurfacing Repair, Demolition & Disposal of the removed asphalt, Prime and 2" H.M.A.C., Mobilization. Traffic Control, Equipment. Between 85- 169.99 SQ. YDs Line Item 69 to be ordered in Square Yards and to billed in	500	TON	\$325.00 UNIT	\$100.00	\$253.00	\$220.00
	TONS. Complete in place.						V/R/S
				\$162,500.00 TOTAL	\$50,000.00	\$126,500.00	\$110,000.00
70	Furnish and Install Asphalt Street Resurfacing Repair, Demolition & Disposal of the removed asphalt, Prime and 2" H.M.A.C., Mobilization. Traffic Control, Equipment. For 170+ SQ. YDS Line Item 70 to be ordered in Square Yards and to	500	TON	\$300.00 UNIT	\$300.00	\$209.00	\$210.00
	billed in TONS. Complete in place.			\$150,000.00 TOTAL	\$150,000.00	\$104,500.00	\$105,000.00
				\$100,000.00 1.011.L	1 (100,000,000	4.0.,	V.00,000
71	Milling/Removal of existing or additional pavement between 0.01- 2,999.99 SQ. YDs up to 2- inches in depth each pass	5,000	SQ.YD.	\$20.00 UNIT	\$1.00	\$8.00	\$15.00
	for street Resurfacing Projects. Complete in place.			\$100,000.00 TOTAL	\$5,000.00	\$40,000.00	\$75,000.00
72	Milling/Removal of existing or additional pavement between 3,000-5,999.99 SQ. YDs up to 2- inches in depth each pass for street Resurfacing Projects. Complete in place.	6,000	SQ.YD,	\$15.00 UNIT	\$1.00	\$4.00	\$12.00
	prace.			\$90,000.00 TOTAL	\$6,000.00	\$24,000.00	\$72,000.00

Reviewed By: Y.A.

TABULATION OF BIDS FOR: ON CALL CONSTRUCTION SERVICES FOR THE REPAIRS OF STREET RIGTHS-

**OF WAY** 

**BID TO BE OPENED: APRIL 12 2023** 

BID NUMBER: CSP30-23

					DOUBLE H CONTRACTING, INC.	ZTEX CONSTRUCTION,INC.	TAO INDUSTRIES, INC.  DBA HAWK  CONSTRUCTION
				ENGINEER'S	14361 Roaring Springs Drive	1326 Henry Brennan Dr.	12779 Azogue Ave.
TEN	DESCRIPTION	QTY	UNIT	ESTIMATE	El Paso,TX 79928	El Paso, TX 79936	El Paso, TX 79938
73	Milling/Removal of existing or additional pavement for 6,000	10,000	SQ.YD.	\$10.00 UNIT	\$1.00	\$4.00	\$10.00
	+ SQ. YDs, up to 2-inches in depth each pass for street Resurfacing Projects. Complete in place.			\$100,000.00 TOTAL	\$10,000.00	\$40,000.00	\$100,000.00
74	Owner's Allowance for unanticipated work required at the owner's direction only	1	LS	\$150,000.00 TOTAL	\$150,000.00	\$150,000.00	\$150,000.00
	TOTAL BID PRICE (ITEMS 1 THROUGH 74)			\$7,020,700.00	\$3,925,500.00 Bidder's Total: \$3,875,500.00	\$6,700,750.00	\$7,371,490.00
					RESIDENT BIDDER BID BOND PROVIDED	RESIDENT BIDDER BID BOND PROVIDED	

Reviewed By: U.R.

Date: 4-14-23